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QUESTION 1

You are configuring a new system with ONTAP 9.5. You created interface groups, VLANSs, and a broadcast domain for
the new ports on all the nodes of your cluster. During the configuration, you used an MTU value of 1500 for the
broadcast domain and 9000 for the physical ports. The customer asks you to enable jumbo frames.

What should you do in this scenario?

A. Set the MTU option to jumbo frames on the broadcast domain.

B. Change the MTU value to 9000 on the ifgroup.

C. Set the MTU option to jumbo frames on the ifgroup.

D. Change the MTU value to 9000 on the broadcast domain.

Correct Answer: D

QUESTION 2

Which NetApp tool should you use to set up an ONTAP 9.5 cluster?
A. Config Advisor

B. System Setup

C. SANTtricity Storage Manager

D. OnCommand System Manager

Correct Answer: A

Reference: http://www.admin-sys.com/IMG/pdf/Config_Advisor_32_Installation_and_Administration_Guide.pdf

QUESTION 3
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You install a new FAS2650 HA with a DS224C disk shelf and ONTAP 9.5 on a customer site. Referring to the exhibit,
which steps are required to get an HA cabled system?

A. 1. Insert a cable from right controller port Oa to IOMB port 2, and from port Ob to IOMA port 4.
2.

Insert a cable from left controller port Oa to IOMA port 2, and from port Ob to IOMB port 4.

3.

Cable the out-of-band ACP.

B. 1. Insert a cable from right controller port Oa to IOMA port 1, and from port Ob to IOMB port 3.
2. Insert a cable from left controller port Oa to IOMB port 1, and from port Ob to IOMA port 3.

C. 1. Insert a cable from right controller port Oa to IOMB port 1, and from port Ob to IOMA port 4.
2.

Insert a cable from left controller port Oa to IOMA port 1, and from port Ob to IOMB port 4.

3.

Cable the out-of-band ACP.

D. 1. Insert a cable from right controller port Oa to IOMB port 2, and from port Ob to IOMA port 3.
2. Insert a cable from left controller port Oa to IOMA port 2, and from port Ob to IOMB port 3.

Correct Answer: C

QUESTION 4
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To ensure that your customer\\'s cluster is robust and operational, you need to be familiar with configuration
best practices.

Which three practice rules should you always follow? (Choose three.)

A. Keep all nodes in the cluster on the same version of ONTAP.

B. Use LIFs with defined failover policies.

C. Remove failed disk drives once a year to maintain minimum interruption in your controller stability.

D. All power supply units should be plugged into the same power grid.

E. Do not use the root aggregate for storing data.

Correct Answer: ABE

QUESTION 5

You are adding two new nodes into an existing switchless 2-node cluster.

Which two statements are true in this scenario? (Choose two.)

A. You first need to install the cluster interconnect switches to the existing cluster.

B. You must make sure that the existing nodes are healthy and that all cluster links are up.
C. The existing cluster must use clustered Data ONTAP 8.1 or later software.

D. You need to schedule downtime to add these two nodes.

Correct Answer:. AB

NS0-182 PDF Dumps NSO0-182 VCE Dumps NS0-182 Study Guide

NS0-182 PDF Dumps | NS0-182 VCE Dumps | NS0-182 Study Guide 4/4


https://www.pass4itsure.com/ns0-182.html
https://www.pass4itsure.com/ns0-182.html
https://www.pass4itsure.com/ns0-182.html
http://www.tcpdf.org
https://www.pass4itsure.com/ns0-182.html
https://www.pass4itsure.com/ns0-182.html
https://www.pass4itsure.com/ns0-182.html

